JL_

Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 10x743=7,435 2) 605 x 10=16,052
5.
3) 10 x 968 =9,683 4) 5x540=2,700 6.
7.
5) 5x941=4,706 6) 5x934=4,670
8.
7) 788 x10=7,880 8) 2x496=993 9.
10.
9) 2x943=1,886 10) 10x 274 =2,740
11.
11) 595x2=1,190 12) 915x2=1,831 12
13.
13) 594 x5=2970 14) 796 x 5= 3,980 u
15.
15) 5x945=4,726 16) 926 x 2=1,853
16.
17) 152 x10=1,522 18) 342x2=684 17,
18.
19) 439 x10=4,390 20) 5x490=2,453
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 N
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. no
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. no
\_ J
4. YES
1) 10x 743=7,435 2) 605 x 10 = 6,052
5. no
3) 10 x 968 = 9,683 4) 5x540=2,700 6 yes
7. Yes
5) 5x941=4706 6) 5x934=4,670
8. no
7) 788 x 10=7,880 8) 2x496=993 9. YES
10. YES
9) 2x943=1,886 10) 10x 274 =2,740
11. YES
11) 595x 2 =1,190 12) 915x2=1,831 12 no
13. YES
13) 594 x5=2970 14) 796 x 5= 3,980
) ) 14, YES
15. no
15) 5x 945=4,726 16) 926 x2=1,853
16. no
17) 152x10=1522 18) 342x2=684 17 no
18. YES
19) 439 x 10 =4,390 20) 5x490= 2453
19. YES
20. no
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